Name:
2
x*=5x—-14
1. Simplify, ————
Py T g9
x+2 2 C x+2 x—2
x+7 7 T—x x=17
(3 2%)
21x2 — 6x
2. Simplify, ——M8 =
PHLY 14x
49x2 — 4
6 B Txy + 2xy
Txy + 2y ' 6
6 D. Txy + 2y
Ixy + 2x 6
4a-28 a>—49
3. Simplify: +
HPHLY: ¢ 3a -2l
2a—T7) B 2a— 14
(a+7) ’ 7
a*+4a—177 b 4~ 8
6(3a —21) " o6a—"T7)
3x2 —6x 3x2+5x-2
4.  Simplify: .
P 2 T3
—X —x(x=2)
3x+1 BGx-Dx+2)
x(x—=2) —x(x+2)
Bx—-Dx+2) BGx-Dx+2)
2
x*+3x—10 x+2
5. Multiply: .
it x2—4 x2 -9
5 x+5
A. B.
x—9 x—9
C. x+5 D. x—5
x2 -9 x2+9
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10.

Date:
2x+6
Simplify: xt ]
x+3
x2 -1
A, 2(x+1) B. 2(x-1)
2 2
_2x+37 41
x+1)2x-1)
2 =3¢-10 c2-25
Simplify: =
Y T T T 22— 15
c+?2 B. c—3
2(c —3) c2
c c-3 D c*(c—3)
=2 ' c—2
22 +9x+9
Simplify:
PHLY x2 —6x-27
2 B 1
x=3 ’ 3
2
xS D. does not simplify
x—9
—-x—-06
Simplify:
P 2 5+ 6
A -3 B. x+2 x+3 x—=2
x—2 x+2 xX+2
Z=x=2 2x2 —3x=2
Simplify: =
PHLY X2 +6x+5 4x2 -1
x+D2x-1) 2x—1
x+3)x+2) x+5
x+5 1
2x—1 (x+2)(x+3)
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Answer:

Objective:
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Objective:

7.
Answer:

Objective:
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9.
Answer:

Objective:
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Objective:
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A.APR.7

A.APR.7

A.APR.7
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A.APR.7

A.APR.7

A.APR.6
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